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» For any multiplication of 2 different factors, there are 2 related division facts: 4 o —: .
For 4 x 3 = 12, the related division facts are: 12 ~ 3 =4 and 12 ~4=3 : ‘ —
.The same rules apply to the product of 2 integers. ; - L + _—
For (-2)(+5) = —10, the related division facts are: - v o @
(-10) + (=2) =+5 and (-10) + (+5) =2 L 4
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» The quotient of 2 integers with the same sign is positive.

(+10) + (+2) =+5 ' (<10) +(=2) =+5 - Z.> 0\55(8 Q o (&

» The quotient of 2 integers with different signs is negative. : )
(+10) +(-2) = -5 (-10) +(+2) =- - 3) do fedh
» A division expression can be written using a division sign, (-24) + (~6), or it can be _ T # Y ) CLOUBC C,Q\Ef/k\ QU | 58?\
| written as a fraction, ((“f;‘)) : : o &
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1. For each product, complete the 2 related division facts and name the sign of the quotient.
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(+2)(+3) = +6 (46) = (1= o [ ;2 = (3}( Z> = 1l (-3) (3> ore egual
(-2)(-3) = +6 (+6) = (-2) = « R o g;i SESN
(6 = (B=___ T | 3 dsaJA\ n
(42)(-3) = -6 o) s ()= L s |©:@35 oder,as ey
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A Find the product.

L1 x(—19)-12 2. (=6) x (=150 3. (=23 X 0o 4
T s (13 x 1M 6 24 x (=2 TR 7. 36X (~10)-3608. 15 x 18" 27C :
9. (—14) 6) &1 10. 5 w (—23) WS 11, (=12) x 60 ~1%2. (=7) X %‘H
13, 22(9) %‘fﬁl@ 4 7(—50)-35> 15 (=2340 © 16, 210(‘5> “‘fffg ,,
7. (—140)(—3)4%> 18, (—6pHy12 ~1200 19, 128(=1) 71 20. (=150)(=10)
21. a. (=D(=1 1} 22. a. (=2(-2). 4 \SeP
b, (=D(=N(=1~! C2%p. (~(-D(-2) ~B
e (— =D~ ! c. (~2(=2(=2(=2) 1
d (~ (=D~ D=1~ = d. (-2(=2(-D=2=2) "3
23, a (=121 b. (=13 -\ c. (=D cdo
24. a. (~2)42%~»§ b, (~27-8 . (=246 d. (25 -3&
A. | Divide. | |
1. (=35)+ 775 2. (~128) = (-8)1©3. 0+ (-83) 4. (—44) = 1-94 <
5. 72 = (—6)~10 6 120 = (=2)~&O 7. (=71 = (=71 1 8 160 + (—80) ~% |
9. 143 + 11 15 10. (—38f) = 10/ -38°91. (=105) + (=151 12. 144 = (=12) -2
13. %575 - 14. —1% A 15. - —:—Z% s 16. ,—‘% -30
7. ,.%WZ; 18. -“’—_“1%4 1 19. _12640 poIsT 20 —_O@ O
| 21. 13;’,“35{ W‘ 22.; ——_1%3 | Z. 23. -%2— 16 24. '22525 'M*CLW jf'
. Find the product. o -
e 8x3 24 7. 8x(-3-29 8 (=3x8 -24 9 (-8 x (=3) ¢
0. 4% 1040 11, 4 x (=5 "X 12, (=4 x5 “ZO 13 (—4) x (=5) {D
14 6(12) 120 15, 6(—=12) — 120 16 (=612 T2 17, (—6)(—12) 14~
18. 1510 1SV 19, 15(—10) =2 20. (=15)10 PO 21 (=15)(=10) 1P~
22. 12 X (=714 23, (=12) x (=7)81 24. (=1) x ~89)28% 25. 1 x 89 &9
26. 0x 560  27. 0x(-56O 28, (=6 x 18108 29. (~6) x (~19)| 8
30. 98) 12 31. 9(—8) -1° 32. (—4)(=11) 44 33 (—411 ~4Ud
34. (-1300 35, (1300 O 36. (9)(15) 135 37. (— 9)(-15) i35
38. 4 x5 X (~107206 39, 12 (=2) X 5%%40. 8 x (—3) x (—6) {4
41, (=5) X (=2) x (=18) 42. (=3) X (=10) X 9 43. (=25 X (=4) X (=30) 20
T a4 6@)(-5)-Co 15, (~2(=3)(-4-24 6. (-6 O "
47. (=3(=5)(=T)(=2) 20 48. ()(=10)(~3)4) B1O49. (=5)(—3)(~8)(—10) 1200

Evaluate the expression. Suppose a =

(—25) x (=25 625 B Find the quotient.

3. 14-7 2 14. 28 +14 2 15, (=10) = 10 2 16. (-70) = (=5) 1Y
17. 0 = (=5 O 18. 150 + (=530 19. (=75 = 1576 20. (-99) + (-3) 33
(—8) = (=1) & 22. (—48) ~2-24 23. 125 + 25 S 24, 40 = (-8) ~5

. —96 100 ~
25. ——= {1 26. —— - 64 _, 57 _
~3 20 5 27. e H 28. — 19
-81 - — 80 : 63 —
29, —2L -9 30, —O9Y g ;63 _q 89 ﬁ
9 4 & 3 — 2. —2 |
: 0 ~127 | ~105 . ,
33. 'S 34, %7 35 Yo _ 120 v
52 1 5 ,3&5. 36, —— A
plify +Do Mot .
) _ —15)3
- (—77; 9-1Sc3 26 2 XS( 5 -5 27 ((5)1
- | ) _(L10) 3 - 18, —12 e
(=5) — (=10) . 8-(-1018_7 30. -3+ (,3
- 28. (—3) + 4 (—32 Qq ) 6
S | | | (_ﬁ;rﬁ_ﬁ_(:_l 16
31 (=6) + A+ (=4 320 (=25 ¢ (=3) + (=2)5733. 5~ g~ (Z1) 1)

—48,b = 8,and ¢ = —2.

.34. a.+ b —C, 35. —fé— -4 36. a =~ C. Z.,L«{
' S | | a+b zo
37, 4« (b=4 12 38 %C— (2. 39. = O
a-t 41. abc 160 42.
Copy and complete. each table.
| o 45.

43,

Rule: y = 3x = 3




